DEVIEW
2019

React, Angular, Vue&
St EH0f| X|25}7| 913t 4174

-

(Cross Framework Component)

A9
FE-Platform

NAVER




CONTENTS

sy U1 R

Cross Framework Component(CFC)?
7| Hide AREES T2 0] AEot Ald|et ZA|A

TS = dEE H2[(DOM Diff)

Cross Framework Component(CFC) 2|
Cross Framework Component(CFC) 48

3L €A Ok 4~ Q= Infinite Scrollof] CFC 22355 7
egjsOllA| CFCE X423t Af2|

DEVIEW
2019



DEVIEW
2019

omponer



(Cross Platform)2

€D Xamarin N

I

A

«

2 StLIe| AATEE
(2UMIA| 2]2])0l|A AFRE 2~ 9

ne == 2t

—lutter

A

L

01

DEVIEW
2019



DEVIEW

Cross Framework Component




view360

=

InfiniteGrid

v

Visible

< >

Persist

DEVIEW
2019






2. Lo BH30 BES A2 EXE

-1 O L

@) ¢ Flicking »

InfiniteGrid
= 0/X
1. DOME ZIH/AH[SHs HMED} USL|7}? 0
2. DOMS| &Mt HFE 4 UELIIF? 0

DEVIEW
2019



CHE 2= react-flicking react-infinitegrid
= x| Cha3E0 DOMO| B0} Qi = off g Zei| ™+ 20| =| A=tz
o obg go| ALg st | HEUES OtC L b
AR £l Zheksict, elsts 7|5 50| B2t & 4 Utk
Y DOMS)| £7H/AHH|/0|S0] OfCt Rl hE e,

(K BHS Uf O] A3 W)

8 - =

DEVIEW
2019



QIAEIADL XD |3lot HIEHOI react-flicking 0.0.X

public componentDidMount() A{
this.flicking = new NativeFlicking(
ftndDOMNode(this) as HTMLElement,
this.options,
) ;
}
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2.1 TadHA 2ot Yol EXIH o5

i e A S

ol

H/ATN|IE K|t react-flicking 0.0.X

const flicking = (this.flicking as any);

const panel = flicking. conf.panel;

panel.$list = [].slice.call(flicking.$container.children);
flicking._arrangePanels();

flicking._movePanelPosition();
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React M1 HILIEZ A

OL= react-infinitegrid 1.x.x

Vanilla

this._items = new ItemManager();
this._renderer = new DOMRenderer(viewer, {

container: isOverflowScroll ? this._container :

isEqualSize,
isConstantSize,
horizontal,

)g

this._watcher = new Watcher(
this._renderer.view,

{
isOverflowScroll,
horizontal,
container: this._renderer.container,
resize: () => setTimeout(() => { this.setState({layout: true}); }),
check: param => this._onCheck(param),
})s

this._infinite = new Infinite(this._items, {
horizontal,
threshold,
useRecycle: true,
append: param => this._requestAppend(param),
prepend: param => this._requestPrepend(param),
recycle: param => this._recycle(param),

1)

null,

this._manager = new LayoutManager(this._items, this._renderer, {

isEqualSize,
isConstantSize,

)8

this._manager.setLayout(this._layout);
this._updateLayout();
this._setSize(this._renderer.getViewportSize());
this._updateGroups();
this._watcher.setScrollPos();

A, e
= !

React

this._items = new ItemManager();
this._renderer = new DOMRenderer(viewer, {
container: isOverflowScroll ? this._container :
isEqualSize,
isConstantSize,
horizontal,
s
this._watcher = new Watcher(
this._renderer.view,
{
isOverflowScroll,
horizontal,
container: this._renderer.container,

resize: () => setTimeout(() => { this.setState({layout: true}); }),

check: param => this._onCheck(param),
s
this._infinite = new Infinite(this._items, {
horizontal,
threshold,
useRecycle: true,
append: param => this._requestAppend(param),
prepend: param => this._requestPrepend(param),
recycle: param => this._recycle(param),

3

this._manager = new LayoutManager(this._items, this.

isEqualSize,
isConstantSize,

1)

this._manager.setLayout(this._layout);
this._updateLayout();
this._setSize(this._renderer.getViewportSize());
this._updateGroups();
this._watcher.setScrollPos();

-

IIIIIIIIIIIIIIIIIIII

o] B H|H

null,

_renderer, {
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Vanilla

this._items = new ItemManager();
this._renderer = new DOMRenderer(viewer, {
container: isOverflowScroll ? this._container : null,
isEqualSize,
isConstantSize,
horizontal,
})s
this._watcher = new Watcher(
this._renderer.view,
{
isOverflowScroll,
horizontal,
container: this._renderer.container,

resize: () => setTimeout(() => { this.setState({layout: true}); }),

check: param => this._onCheck(param),
1)
this._infinite = new Infinite(this._items, {
horizontal,
threshold,
useRecycle: true,
append: param => this._requestAppend(param),
prepend: param => this._requestPrepend(param),
recycle: param => this._recycle(param),

1Dg

this._manager = new LayoutManager(this._items, this._renderer, {

isEqualSize,
isConstantSize,

1Dg

this._manager.setlLayout(this._layout);
this._updateLayout();
this._setSize(this._renderer.getViewportSize());
this._updateGroups();
this._watcher.setScrollPos();

Reac

this._items = new ItemManager();
this._renderer = new DOMRenderer(viewer, {

container: isOverflowScroll ? this._container :

isEqualSize,
isConstantSize,
horizontal,

)g

this._watcher = new Watcher(
this._renderer.view,

null,

{
isOverflowScroll,
horizontal,
container: this._renderer.container,
resize: () => setTimeout(() => { this.setState({layout: true}); }),
check: param => this._onCheck(param),
})s

this._infinite = new Infinite(this._items, {
horizontal,
threshold,
useRecycle: true,
append: param => this._requestAppend(param),

prepend: param => this._requestPrepend(param),

recycle: param => this._recycle(param),

1)

this._manager = new LayoutManager(this._items, this._renderer, {

isEqualSize,
isConstantSize,

)8

this._manager.setLayout(this._layout);
this._updateLayout();
this._setSize(this._renderer.getViewportSize());
this._updateGroups();
this._watcher.setScrollPos();

A, e
= !

Angular

this._items = new ItemManager();
this._renderer = new DOMRenderer(viewer, {
container: isOverflowScroll ? this._container : null,
isEqualSize,
isConstantSize,
horizontal,
1)
this._watcher = new Watcher(
this._renderer.view,
{
isOverflowScroll,
horizontal,
container: this._renderer.container,

resize: () => setTimeout(() => { this.setState({layout: true}); }),

check: param => this._onCheck(param),
s
this._infinite = new Infinite(this._items, {
horizontal,
threshold,
useRecycle: true,
append: param => this._requestAppend(param),
prepend: param => this._requestPrepend(param),
recycle: param => this._recycle(param),

1)

this._manager = new LayoutManager(this._items, this._renderer, {

isEqualSize,
isConstantSize,

1)

this._manager.setLayout(this._layout);
this._updateLayout();
this._setSize(this._renderer.getViewportSize());
this._updateGroups();
this._watcher.setScrollPos();

L

ue

this._items = new ItemManager();

this._renderer = new DOMRenderer(viewer, {
container: isOverflowScroll ? this._container :
isEqualSize,
isConstantSize,
horizontal,

})s

this._watcher = new Watcher(
this._renderer.view,

{
isOverflowScroll,
horizontal,
container: this._renderer.container,
resize: () => setTimeout(() => { this.setState({layout: true}); }),
check: param => this._onCheck(param),
1)

this._infinite = new Infinite(this._1items, {
horizontal,
threshold,
useRecycle: true,
append: param => this._requestAppend(param),
prepend: param => this._requestPrepend(param),
recycle: param => this._recycle(param),

)8

this._manager = new LayoutManager(this._items, this.

isEqualSize,
isConstantSize,

18

this._manager.setlLayout(this._layout);
this._updatelLayout();
this._setSize(this._renderer.getViewportSize());
this._updateGroups();
this._watcher.setScrollPos();

null,

_renderer, {
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3.1 YUK A2 H ocviEw

Angular Template

<ngx-flicking [options]="{ gap: 10 }" (move)="...">
<ng-template>
<d1v class="panel"></div>
<d1v class="panel"></div>
ReaCt JSX <div class="panel"></di1v>
</ng-template>
> </ngx-flicking>

<F11Cklng Jap= {1@} ONMo\ H:{

<div className="panel ></civ>

<dilv className="panel"></div> Vue Template

<dlv className="panel"></d1v> <flicking :options="{ gap: 10 }" @move="...">
</Flﬂij<lng> <d1v class="panel"></div>
<div class="panel"></div>
<div class="panel"></div>
</flicking>




3.2 oyl 3 sl 22| - key

<Flicking>
<d1v className="1tem"
<d1v className="1tem"
<d1v className="1tem"
<d1v className="1tem"
<d1v className="1tem"
<d1v className="1tem"

</Flicking>

>1</dlv>
>2</d1v>
>3</d1v>
>4</d1v>
>5</d1v>
>b</d1v>
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3.2 ZH|YY3 U 22| - key o
ReactOj|A keyE O|E-HA| EE= A0 HIA|X]

© P Warning: Each child in an array or iterator should have a unique "key"
prop.

<Flicking>
{[1, 2, 3, 4, 5].map(1 => (
<div className="1tem">{1}</div>

) )}
</Flicking>



330 U3

<di1v
<di1v
<div
<div
<div
<di1v

C

1
</Flicking>

O O O O

1,2,3,4,5,6

<Flicking>
lassNa

assNa

e="1ten
e="1tenm
e="1ten
e="1ten
e="1ten
e="1ten

- DOM Diff
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1,2,6,5,3

o
diC g A

<Flicking>
cey={1}>1</div> <div classN
key={2}>2</div> <div classN
cey={3}>3</div> ' <div classN
cey={4}>4</div> <div classN
cey={5}>5</div> <div classN
cey={6}>6</div> </Flicking>

d
d
d
d

d

e="1ten
e="1ten
e="1ten
e="1tenm
e="1tenm

cey={1}>1</div>
cey={2}>2</div>
<ey={6}>6</div>
<ey={5}>5</div>

cey={3}>3</div>



o] ke, o] & . ]
3.3 3|3 2z 2] - DOM Diff
Framework DOM

<Flicking>

<div className="1item" key={1l}>1</div>

<div className="1item" key={2}>2</div>

<div className="1item" key={3}>3</div> '

<div className="1item" key={4}>4</div>

<div className="1tem" key={5}>5</div>

<div className="1tem" key={6}>6</div>

</Flicking>

B
o]
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3304y Y &l - DOM Diff

471 4|0 E| A7

Framework
<Flicking>
<div className="1item" key={1l}>1</div>
<div className="1item" key={2}>2</div>
<div className="item" key={3}>3</div>
<div className="item" key={5}>5</div>
<div className="1tem" key={6}>6</div>

</Flicking>

-3

DOM

L2 ]
5[ e]
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3.3 o3 =gl 2| - DOM Diff

6% Ci[O[E17t 3 H|O0|E| (X 2.= O|F

<Flicking>
<d1v class
<d1v class
<d1v class
<d1v class
<d1v class

</Flicking>

Framework

= e = e =

all

a\
dll

(D

(D

(__DJ_J

(T

(D

'1te
'1te
'1te
'1te
'1te

' key={1}>1</div>
' key={2}>2</div>
' key={6}>6</div>
' key={3}>3</div>

| 3 3 3 3

' key={5}>5</div>

-3

DOM

L2 L]
2[5
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3.3 o3 =gl 2| - DOM Diff

5% Ci[O[E17t 3 H|O|E| (X 2.= O|F

<Flicking>
<dl1v class
<d1v class
<d1v class
<dl1v class
<d1v class

</FlLicking>

Framework

d
d
d
d
d

1 — — —

(D

(D (D (D

"1te
'"1te
"1te
'"1te
"1te

' key={1}>1</div>
' key={2}>2</div>
' key={6}>6</div>
' key={5}>5</div>

=3 3 3 3 3

' key={3}>3</div>

-3

DOM

L2 L]
5] [2]
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3.4 DOME ZZS1AH| £|H?

1,2,3,4,5,6

<Flicking>

<di1v
<div
<div
<div
<di1v
<di1v

C

O O 0O O

LassNa
LassNa
LassNa
LassNa
LassNa
-

assNa

</Flicking>

=3 3 3 3 3 3

e="1ten
e="1ten
e="1ten
e="1ten
e="1ten
e="1ten

cey={1}>1</div>
key={2}>2</div>
cey={3}>3</div>
<ey={4}>4</div>
cey={5}>5</div>

cey={6}>6</div>

DEVIEW
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1,2,6,5,3

<Flicking>

-

<div
<di1v
<di1v
<di1v
<di1v

C
C
C
C

LassSN
LassN
LassN
LassN
-

assN

</Flicking>

d
d
d
d

d

=3 3 3 3 3

e="1ten
e="1ten
e="1ten
e="1tenm
e="1tenm

cey={1}>1</div>
cey={2}>2</div>
<cey={6}>6</div>
<ey={5}>5</div>

Key={3}>3</div>



[

3.4 DOMS ZZESHA| £|HH7? 2019
AE X2t removeChildE 2 Z0lA EH5tH= 042

» Uncaught DOMException: Failed to execute ‘insertBefore' on 'Node’:
inserted 1s not a child of this node.

at insertBefore (http://localhost:3008/static/js/0.chunk.js:1467
at commitPlacement (http://localhost:3000/static/js/@.chunk.js:2

at commitAllHostEffects (http://localhost:3000@/static/js/0.chunk
at HTMLUnknownElement.callCallback (http://localhost:30008/static

at Object.invokeGuardedCallbackDev (http://localhost:30008/static
at invokeGuardedCallback (http://localhost:30080/static/js/@.chun
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4.1 CFC 2| - DOM X%t 9| 513} 25

DOM= 31/ AA[oh= BE

DOM Component Framework

=31

inserthefore 2otHME 53 TR WEES]

A

Al S 3= o4 AF
(removeChild) ~MHME 23 Hi G|O| E{ AbA|




Component

Data
Z7H/AA|)

createElement
appendChild
removeChild

DOM
FHAA)
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4.1 CFC 92| - DOM X%} 9|53} 5o

User's Data
(Z7H/AHA)
v
DOM
Framework — EXT) createElement
: appendChild
v removeChild

Data
Component — =1 )

L




4.2 CFC 32| - FIH/AN HME 25 RlE| ==

/A HIMES Se HI0IE 3212t

User's Data __ DOM
o) Framework — 2 7H/AH)

¢ T1/=NI/0ls BE AE

Data



4.3 CFC &2 - ListDiffer

[+ — O]
[.istDifter




4.3 CFC 22| - ListDiffer 2015

1. &7H(added):

=0l R 49| OISl gt

2. AY|l(removed):
APX|=l @ A 9| olEl A X

XISt
H H

3. 8X|(maintained):
P‘d HH S O0f| M AFK|=[X] 4= OFO|EI=2| [O|F QIHIA O] QIEA] &t

LS — L L_ 1 L 1



4.3 CFC 2| - ListDiffer o

AMH|(removed) > S X|(maintaind) > Z£7}(added)

BT B



4.3 CFC 22| - ListDiffer 2015

User's Data DOM
Eohay) | Framework — (G 7H/A)

: ListDiffer2 £33t 7|3}
V

Data
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1. 390/ AR MM E

DOM =%t @|Ho}

AN HME =25 3

3. ListDiffer(diffgets)
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5.2 CFC Mg WY - 2IC{ 9|28} SM Xg B
22 Q|E st 2M: false

Data , DOM
Z7HAA)) ZI7HAA))

DOM | ... vata
Framework —> (Z7P7ARA) > | Component = (271A)

Component —



5.2 CFC M2 HiH _ 22l Q|H3| M XMg =

insert(data, index) {
const el = makeDOM(data);

this.1tems.splice(index, 0, el):

document.body.insertBefore(el, this.items[index + 1]);




5.2 CFC X8 W - {2 9|53 84 Mg #
AT 9|53t &M 7S A

e

insert(data, index) {
const el = this.renderExternal ? data : makeDOM(data);

this.i1ttems.splice(index, 0, el);

if (!'this.renderExternal) {
document.body.insertBefore(el, this.items[index + 1]);

}




5.2 CFC X8 W - Fo/AM oiME 55 &

1. removed(£HA]) > 2. maintained(§-X]) > 3. added(3=7})



5.2 CFC M HhH - X2J|/AY| HIME & =™

1. removed(2A|) > 2. maintained(&X]) > 3. added(7})

1 removed.forEach(index => {
this.remove(index, list[index]);

});

const nextList: Item[] = [];
? maintained.forEach(([fromIndex]) => {
nextList.push(items[fromIndex]);

});

this.1tems

nextList;

3 added.forEach(index => {
this.insert(index, list[index]);

});



2 538 - Recycle 11X

Viewport
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5.3 CFC &8 Wil - Recycle 7%

No Recycle &+x

User’s Data ___ DM
@oha | Framework == .50 )

v

Data
Component = =5y



5.3 CFC & ' - Recycle 71X S5

Recycle 41
ZIH/AH|/01E R MY

User's Data Before Data
2 7H/A)) > | Component—> "= 51/ )

Framework *(sggm) ---»| Component—> Aft(eycgg)ata




6. fFTLE 17 TS 2 Qs
Infinite Scrolld CF 7‘* 25HH 7|

-1
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2019

1. CFCHAZX HELE
1. Vanilla (@egjs/deview-infinite)
2. React (@egjs/react-deview-infinite)
3. Angular (@egjs/ngx-deview-infinite)
4. Vue (@egjs/vue-deview-infinite)

2. CFCRecyle X HIXLHE
1. Vanilla (@egjs/deview-recycle)
2. React (@egjs/react-deview-recycle)
3. Angular (@egjs/ngx-deview-recycle)
4. Vue (@egjs/vue-deview-recycle)

-.m

5] Tt

“I I- |

https://github.com/NAVER-FEPlatform/deview2019-demo



https://github.com/NAVER-FEPlatform/deview2019-demo

6.1 CFC Of|A| - Infinite Scroll(No Recycle) ==

No Recycle &+x

User’s Data _ — DOM
2opaga) | FrAMEWOTK ™ (apapy

¢ FHAR/0IE e HY

Data
Component = =5y



6.1 CFC Of|A| - Infinite Scroll(No Recycle) ==

No Recycle X2 Lifecycle

U Se rl S Data ----------------------
Z7H/AHH)) »| updated



6.1 CFC O|IX| - Infinite Scroll(No Recycle) =

No Recycle X2 Lifecycle

mounted e L L L L, :
i

=IH/AA/ols BE =

[
[
User's Data
SersData ..........pf render frerren ] -
[



6.1 CFC o|X| - Infinite Scroll(No Recycle) ==

oA 30X DOMSZ =71/AMN|oE 2 sync HIAE 25

User'sData . . ........;&) render keseesseeee ] tindated beeweeeeees
SerS DRt .. > x> updated | preeeeeed

public componentDidUpdate() {
this.infintte.sync(this.contaitner.children);

}



DEVIEW

6.1 CFC Of|IA| - Infinite Scroll(No Recycle) ==

removed(AA) > maintained(§-X|) > added(F?}) HHHO = 7|3}

r-----

UsersData | ... ....8] render hesessssseeed] ndated kesssssss ..
27}/AH) . " > sync |

maintained.forEach(([fromIndex]) => {
nextList.push(items|[fromIndex]);

});

this.i1tems = nextList;

added.forEach(index => {
this.insert(index, Llist[index]);

});



6.1 CFC o] - Infinite Scroll(No Recycle) ==

DOM XXt Q& 3}

public insert(index: number, data: HTMLElement | string) {
ttems.splice(index, 0, item);

if (!'options.renderExternal) {
const nexItem = items[index + 1];

this.contatiner.insertBefore(item.el, nexItem ? nexItem.el : null);

}




6.1 CFC Of|X| - Infinite Scroll(No Recycle)

R ]

items: 1,2, 3,4,56,78,910,1,12,13

Iltem 1
Iltem 2 L3
Iltem 3
Iltem 4
Iltem 5
Iltem 6
Iltem 7
Iltem 8
Iltem 9
Iltem 10

html

Item 11

TN e W

<div
<div
<div
<div
<div
<div
<div
<div
<div
<div
<div
<div
<div
</div>

<script src="src/index.ts"></script>
<script type="text/javascript" src="https://codesandbox.io/static/js/sandbo

Elements

class="1item"
class="1item"
class="1item"
class="1item"
class="1item"
class="1tem"
class="1tem"
class="1tem"
class="1tem"
class="1tem"
class="1tem"
class="1item"
class="1item"

Console

Ll L T N e W

v<div id="app" class="container"” style="height:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:

Sources

startup.2daca®@4.js"></script>

<script type="text/javascript" src="https://codesandbox.io/static/js/common
sandbox.bl4be9a3.chunk. js"></script>

Network

absolute;
absolute;
absolute;
absolute;
absolute;
absolute;
absolute;
absolute;
absolute;
absolute;
absolute;
absolute;
absolute;

Performance Memory

598px; "> == $0

top: Opx;'=Item l</div=>
top: 46px;"=Item 2</div>
top: 92px;">Item 3</div>
top: 138px;">Item 4</div>
top: 184px;">Item 5</div>
top: 230px;">Item 6</div>
top: 276px;">Item 7</div>
top: 322px;">Item 8</div>
top: 368px;">Item 9</div>
top: 414px;">Item 10</div>
top: 460px;">Item 1ll</div=>
top: 506px;">Item 12</div=>
top: 552px;">Item 13</div=>

»

<script type="text/javascript” src="https://codesandbox.io/static/js/
vendors~sandbox.35cc9f7e.chunk.js"></script>

<script type="text/javascript" src="https://codesandbox.io/static/js/

body div#app.container

Vanilla Infinite

DEVIEW
2019



6.1 CFC O|IX| - Infinite Scroll(No Recycle) =

ltems: items: 1

SSSSSSSSSSSSSSSSSS

React Infinite Angular Infinite Vue Infinite



6.2 CFC Of|X| - Infinite Scroll(Recycle) 2018

No Recycle /12

User's Data __ DOM
o) Framework — 2 7H/AH)

§ Zol/A/01S e T

Data
Component _>(-%-7Hé.*1ﬂ)



6.2 CFC Of|X| - Infinite Scroll(Recycle) St "

Recycle &~
ZIH/AH|/01E R MY

User's Data Before Data
2 7H/A)) > | Component—> "= 51/ )

Framework *(SBS Md) ---»| Component—> Aft&;g)ﬂta




6.2 CFC OJ|d| - Infinite Scroll(Recycle) 2018

No Recycle X2 Lifecycle

T 71/ S ST
S A rvrurerssendp| FENdEr fusersseessedy Updated fesserasees

Recycle 11X 2| Lifecycle

Ol ¢ 112

=H/AHA/0|E B8R HE DOM ZHAl

RN W oy W e WG ey
(ZTH/A) before sync render updated after sync



6.2 CFC OJ|A| - Infinite Scroll(Recycle) 2018

No Recycle :22| sync

=H/AH/0ls BE HE
-----------

Recycle £22] sync

=IH/AA/0lE BE HE

i

i

U D I
ser's Data -
ZIpAA) .
i

-
O
Q.
Q)
~
(M
Q.
Q)
=i
e~
(M
-
n
<
-
n
l---



6.2 CFC Of|A| - Infinite Scroll(Recycle) 2018

DOME 3=7}/AMN|52| H0Oj| beforeSync HIME S =

_ -
o render |pp] updated b .
-

3 User's Data
Il B B B BB BB BB BB BB b BB BB BB BB N BB EEE

- (EIHAA)

public render() {
const children = React.Children.toArray(this.props.children);

this.recycle.beforeSync(children.map(child => child.key));

const indexes = this.recycle.getRenderingIndexes();

const visibleChildren = children.slice(indexes.start, indexes.end + 1);

return (<Tag {...attributes}>{visibleChildren}</Tag>);
}
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DOME =7}/AMH|812| Ho|| beforeSync HIME S &= (Angular)

ngOnChanges() {
const itemKeys = this.items.map((item, 1) => this.trackBy(i, item));

this.recycle.beforeSync(itemKeys);

const indexes = this.recycle.getRenderingIndexes();

this.visibleltems = ittems.slice(indexes.start, indexes.end + 1);

}

<d1v NgxDeviewRecycl
<div class="1tem"
Item {{item}}
</div>
</div>
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removed(2r4]) > maintained($-X]) > added(F2}) HIHHO Z AN 7|3}

public beforeSync(data: any[]) {
const i1tems = thtis.1items;
const itemKeys = this.items.map(item => item.key);
const { maintained, added } = diff(itemKeys, data, key => key);

const nextList: Item[] = [];

maintained.forEach(([fromIndex]) => {
nextList.push(items[fromIndex]);

F);

this.1tems = nextlList;

added.forEach(index => {
this.insert(index, "", datal[index]);

IF

this.refreshCursor();
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I YH20AM DOMS FIH/ Aot £ sync HIME 2F
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User's Data .
' ” - I ’ >

Z7HAA)
I

public componentDidUpdate() {
this.infintte.sync(this.container.children);

}
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6.2 CFC Of[A[ - Infinite Scroll(Recycle)

DOM ZHA
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public sync(elements: HTMLElement[]) {

const visibleItems = thtis.ittems.slice(this.startCursor, this.endCursor + 1);
visibleItems.forEach((item, 1) => {
item.el = elements[i];

F);

this. layout();
}
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v 0]

v<div id="app" class="container" style="height:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:
style="position:

items: 1,2, 3,4,5,6,78,910,11,12,13
viisble: { start: 0, end: 12 } L3

Item 1
Iltem 2
Iltem 3
Iltem 4
Iltem 5
Iltem 6
Iltem 7
Iltem 8
Iltem 9

Item 10

html

Elements

<div
<div
<div
<div
<div
<div
<div
<div
<div
<div
<div
<div
<div

</div>
<script src="src/index.ts"></script>
<script type="text/javascript” src="https://codesandbox.io/static/js/sandbox-

class="item"
class="1item"
class="1item"
class="item"
class="item"
class="1item"
class="1item"
class="1item"
class="item"
class="1item"
class="1item"
class="1item"
class="1item"

Console

Sources

startup.2daca@@4.js"></script>

<script type="text/javascript” src="https://codesandbox.io/static/js/common-
sandbox.bl4be%a3.chunk.js"></script>

Network

absolute;
absolute;
absolute;
absolute;
absolute;
absolute;
absolute;
absolute;
absolute;
absolute;
absolute;
absolute;
absolute;

Performance Memory
598px; ">
top: Opx;">Item 1</div> ==
top: 46px;"'>Item 2</div>
top: 92px;'">Item 3</div=>
top: 138px;"“>Item 4</div>
top: 184px;">Item 5</div=>
top: 230px;"=>Item 6</div>
top: 276px;'"'=>Item 7</div>
top: 322px;'">Item 8</div=>
top: 368px;“>Item 9</div>
top: 414px;">Item 10</div=>
top: 460px;'>Item 1ll</div=>
top: 506px;''>Item 12</div=>
top: 552px;"=Item 13</div>

»

<script type="text/javascript" src="https://codesandbox.io/static/js/
vendors~sandbox.35cc9f7e.chunk. js"></script>

body div#app.container

div.item

Vanilla Recycle
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React Recycle Angular Recycle Vue Recycle
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removed(2r4]) > maintained($-X]) > added(F2}) HIHHO Z AN 7|3}

§ User's Data

i
 (FIpArA) UL 'i"" """" g

const newGroups = categorize(newltems);

removed. forEach(removedIndex => {
delete groupKeys[groups[removedIndex].groupKey];

});

maintained.forEach(([fromIndex]) => {
nextGroups.push(groups[fromIndex]);

});

added.forEach(addedIndex => {
this.insertGroup(newGroups[addedIndex], addedIndex);

1)
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DOM ZHA

I- . e B B B B B B B B B | '
User's Data _
(Z7HAMA)) > » i

public sync(elements: HTMLElement[]) {
const items = this.getRenderingItems().forEach((item, 1) => {
item.el = elements[i];

DOMRenderer.renderItem(i1tem, item.rect);

});



7.1 CFC A - InfiniteGrid

(% 0]

<html
» <hea
v <bod

v<div style="position:

m @

Elements Console Sources Network

lang="en">
d>..</head>
y>

»<div class="item" data-groupkey="1"
top: 0px;''>.</div=>

» <div class="item" data-groupkey="1"
top: 0@px;''>.</div=>

»<div class="1item" data—-groupkey="1"
top: 181.625px; " ">.</div>

»<div class="item" data-groupkey="1"
top: 207.594px;">.</div>

»<div class="1item" data—-groupkey="2"
top: 415.391px;">.</div>

»<div class="1item" data—-groupkey="2"
top: 519.625px;">.</div>

»<div class="item" data-groupkey="2"
top: 653.062px;">.</div>

»<div class="1item" data—-groupkey="2"
top: 727.219px;">.</div>

=~ o aleoeono. il edaonll P P SN oo snaonssmleamns o 1111

oay dIvV#roo alv

<noscript>You need to enable JavaScript to run this app.</noscript>

relative; height: 1142.41px;">
style="position:

style="position:
style="position:
style="position:
style="position:
style="position:
style="position:

style="position:

ﬂ"-‘l.l A_Iln“ﬁ':*.'““.

https://naver.github.io/egjs-infinitegrid/assets/html/grid.html

Performance Memory

== $@
absolute;

absolute;

absolute;

absolute;

absolute;

absolute;

absolute;

absolute;

ﬂkﬁ“1..4—a.

»
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https://naver.github.io/egjs-infinitegrid/assets/html/grid.html
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Il B BE B B BFE B E N EEEE EEE =B =B
render() {

const children = React.Chtldren.toArray(thtis.props.children);
const diffResult = thtis.jsxDiffer.update(children.map(child => child.key));

flicking.beforeSync(diffResult);
const visibleChildren = flicking.getRenderingIndexes(diffResult).map(index => {

return children[index];

F);

return <div>{visibleChildren}</div>;
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7.2 CFC Al - Flicking

DOM70H|*_I ™ OE O E O mEE = E =
£

User'sData ... horore cone beeveem) ronier beeeoge] aodated Leeeee. [ atersync | !

Eoha) TP " :’ :

public sync(diffInfo: SyncResult): this {

const { list, added } = diffInfo;
const visiblePanels = this.viewport.getVisiblePanels();

added.forEach(addedIndex => {
const addedElement = list[addedIndex];
const beforePanel visiblePanels[addedIndex];

beforePanel.setElement(addedElement);

});



/7.2 C

FC A - Flicking

K~ i Elements Console Sources Network Performance Memory Application
*ua."_rmv.n.llu A SR R L bt B SR L R o N TR A I
P <pre>.</pre>

% Increasing performance <h2>infinite: true & placeholder</h2>
»<ul class="extra">.</ul>
You can increase performance by enabling renderOnlyVisible, »<div class="flicking flicking2">..</div>
ISEQUESEES: Sl IsGonatmuStze.of ki » <div class="pagination pagination2 flicking-pagination'=>..</div=>

See its effect: hitps:/Awww.youiube.com/watch?v=R-DKa-fgeSlI

» <pre>.</pre>
<h2>%# Increasing performance</h2>
»<ul class="extra">..</ul>
v<div class="flicking flicking3">
1 v<div class="eg-flick-viewport” style="position: relative; z-index: 2000;

Check the detalls of the options: Link

none; -webkit-user-drag: none; height: 130px;">
e SP . v<div class="eg-flick—-camera” style="width: 100%; height: 100%; will-change:
transform; transform: translate3d(15@0px, @px, Opx);'> == %0
<div class="infinite infinite® eg-flick-panel” style="position: absolute;
left: Opx;'"=0</div>
<div class="infinite infinitel eg-flick-panel” style="position: absolute;

flicking3 eg.Flicking(".flicking3",

left: 210px;">1</div=>
</div=>
</div>
</div>
» <div class="buttons">..</div>
» <pre>.</pre>

~ ¢
pe: "freeScroll”

}):

flicking3.on( "needPanel”, (e) {
panels e.fill([
'“ddiv class="infinite infinite' + e.range.min %
'<ddiv class="infinite infinite' + (e.range.min +
1):
}):
document .querySelector("#start").addEventListener("click
flicking3.on("moveEnd", (e) {
flicking3.next();
}):

flicking3.next();

}) s »<script data-script="flicking@">..</script>
document .querySelector( "#stop"” ) .addEventListener(“"click” . i . . .
R T »<script data-script="flickingl">..</script>
); . el o e o el Py L e = 1 (g _ W] ’ = 2l L

html body div.container div.flicking.flicking3 div.eg-flick-viewport div.eg-flick-camera

https.//naver.github.io/egjs-flicking/features/infiniteflicking.html
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https://naver.github.io/egjs-flicking/features/infiniteflicking.html

7.3 CFC At 2ot

@v < Flicking »>

InfiniteGrid

— T — T
Y oY

https://github.com/naver/egjs-infinitegrid https://github.com/naver/egjs-flicking
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